Chapter 1 The Conceptual Framework

Answer 1
(a)

The purpose of the Framework is to assist the various bodies and users that may be interested in the financial statements of an entity. It is there to assist the IASB itself, other standard setters, preparers, auditors and users of financial statements and any other party interested in the work of the IASB. More specifically:
· to assist the Board in the development of new and the review of existing standards. It is also believed that the Framework will assist in promoting harmonisation of the preparation of financial statements and also reduce the number of alternative accounting treatments permitted by IFRSs

· national standard setters that have expressed a desire for local standards to be compliant with IFRS will be assisted by the Framework

· the Framework will help preparers to apply IFRS more effectively if they understand the concepts underlying the Standards, additionally the Framework should help in dealing with new or emerging issues which are, as yet, not covered by an IFRS

· the above is also true of the work of the auditor, in particular the Framework can assist the auditor in determining whether the financial statements conform to IFRS

· users should be assisted by the Framework in interpreting the performance of entities that have complied with IFRS.
It is important to realise that the Framework is not itself an accounting standard and thus cannot override a requirement of a specific standard. Indeed, the Board recognises that there may be (rare) occasions where a particular IFRS is in conflict with the Framework. In these cases the requirements of the standard should prevail. The Board believes that such conflicts will diminish over time as the development of new and (revised) existing standards will be guided by the Framework and the Framework itself may be revised based on the experience of working with it.
(b)
Definitions – assets:

The IASB’s Framework defines assets as ‘a resource controlled by an entity as a result of past events and from which future economic benefits are expected to flow to the entity’. The first part of the definition puts the emphasis on control rather than ownership. This is done so that the statement of financial position reflects the substance of transactions rather than their legal form. This means that assets that are not legally owned by an entity, but over which the entity has the rights that are normally conveyed by ownership, are recognised as assets of the entity. Common examples of this would be finance leased assets and other contractual rights such as aircraft landing rights. An important aspect of control of assets is that it allows the entity to restrict the access of others to them. The reference to past events prevents assets that may arise in future from being recognised early.
Definition – liabilities:

The IASB’s Framework defines liabilities as ‘a present obligation of the entity arising from past events, the settlement of which is expected to result in an outflow from the entity of resources embodying economic benefits’. Many aspects of this definition are complementary (as a mirror image) to the definition of assets, however the IASB stresses that the essential characteristic of a liability is that the entity has a present obligation. Such obligations are usually legally enforceable (by a binding contract or by statute), but obligations also arise where there is an expectation (by a third party) of an entity assuming responsibility for costs where there is no legal requirement to do so. Such obligations are referred to as constructive (by IAS 37 Provisions, contingent liabilities and contingent assets). An example of this would be repairing or replacing faulty goods (beyond any warranty period) or incurring environmental costs (e.g. landscaping the site of a previous quarry) where there is no legal obligation to do so. Where entities do incur constructive obligations it is usually to maintain the goodwill and reputation of the entity. One area of difficulty is where entities cannot be sure whether an obligation exists or not, it may depend upon a future uncertain event. These are more generally known as contingent liabilities.
Importance of the definitions of assets and liabilities:

The definitions of assets and liabilities are fundamental to the Framework. Apart from forming the obvious basis for the preparation of a statement of financial position, they are also the two elements of financial statements that are used to derive the equity interest (ownership) which is the residue of assets less liabilities. Assets and liabilities also have a part to play in determining when income (which includes gains) and expenses (which include losses) should be recognised. Income is recognised (in the income statement) when there is an increase in future economic benefits relating to increases in assets or decreases in liabilities, provided they can be measured reliably. Expenses are the opposite of this. Changes in assets and liabilities arising from contributions from, and distributions to, the owners are excluded from the definitions of income and expenses.
Currently there is a great deal of concern over ‘off balance sheet finance’. This is an aspect of what is commonly referred to as creative accounting. Many recent company failure scandals have been in part due to companies having often massive liabilities that have not been included on the statement of financial position. Robust definitions, based on substance, of assets and liabilities in particular should ensure that only real assets are included on the statement of financial position and all liabilities are also included. In contradiction to the above point, there have also been occasions where companies have included liabilities on their statement of financial positions where they do not meet the definition of liabilities in the Framework. Common examples of this are general provisions and accounting for future costs and losses (usually as part of the acquisition of a subsidiary). Companies have used these general provisions to smooth profits i.e. creating a provision when the company has a good year (in terms of profit) and releasing them to boost profits in a bad year. Providing for future costs and losses during an acquisition may effectively allow them to bypass the income statement as they would become part of the goodwill figure.
Answer 2
(a)

Relevance

Information has the quality of relevance when it can influence, on a timely basis, users’ economic decisions. It helps to evaluate past, present and future events by confirming or perhaps correcting past evaluations of economic events. There are many ways of interpreting and applying the concept of relevance, for example, only material information is considered relevant as, by definition, information is material only if its omission or misstatement could influence users. Another common debate regarding relevance is whether current value information is more relevant than that based on historical cost. An interesting emphasis placed on relevance within the Framework is that relevant information assists in the predictive ability of financial statements. That is not to say the financial statements should be predictive in the sense of forecasts, but that (past) information should be presented in a manner that assists users to assess an entity’s ability to take advantage of opportunities and react to adverse situations. A good example of this is the separate presentation of discontinued operations in the income statement. From this users will be better able to assess the parts of the entity that will produce future profits (continuing operations) and users can judge the merits of the discontinuation ie has the entity sold a profitable part of the business (which would lead users to question why), or has the entity acted to curtail the adverse affect of a loss making operation.
Reliability

The Framework states that for information to be useful it must be reliable. The quality of reliability is described as being free from material error (accurate) and a faithful representation of that which it purports to portray (i.e. the financial statements are a faithful representation of the entity’s underlying transactions). There can be occasions where the legal form of a transaction can be engineered to disguise the economic reality of the transaction. A cornerstone of faithful representation is that transactions must be accounted for according to their substance (i.e. commercial intent or economic reality) rather than their legal or contrived form. To be reliable, information must be neutral (free from bias). Biased information attempts to influence users (perhaps to come to a predetermined decision) by the manner in which it is presented. It is recognised that financial statements cannot be absolutely accurate due to inevitable uncertainties surrounding their preparation. A typical example would be estimating the useful economic lives of non-current assets. This is addressed by the use of prudence which is the exercise of a degree of caution in matters of uncertainty. However prudence cannot be used to deliberately understate profit or create excessive provisions (this would break the neutrality principle). Reliable information must also be complete, omitted information (that should be reported) will obviously mislead users.
Comparability

Comparability is fundamental to assessing an entity’s performance. Users will compare an entity’s results over time and also with other similar entities. This is the principal reason why financial statements contain corresponding amounts for previous period(s). Comparability is enhanced by the use (and disclosure) of consistent accounting policies such that users can confirm that comparative information (for calculating trends) is comparable and the disclosure of accounting policies at least informs users if different entities use different policies. That said, comparability should not stand in the way of improved accounting practices (usually through new Standards); it is recognised that there are occasions where it is necessary to adopt new accounting policies if they would enhance relevance and reliability.
(b)(i)

This item involves the characteristic of reliability and specifically reporting the substance of transactions. As the lease agreement is for substantially the whole of the asset’s useful economic life, Porto will experience the same risks and rewards as if it owned the asset. Although the legal form of this transaction is a rental, its substance is the equivalent to acquiring the asset and raising a loan. Thus, in order for the financial statements to be reliable (and comparable to those where an asset is bought from the proceeds of a loan), the transaction should be shown as an asset on Porto’s balance sheet with a corresponding liability for the future lease rental payments. The income statement should be charged with depreciation on the asset and a finance charge on the ‘loan’.
(b)(ii)
This item involves the characteristic of comparability. Changes in accounting policies should generally be avoided in order to preserve comparability. Presumably the directors have good reason to be believe the new policy presents a more reliable and relevant view. In order to minimise the adverse effect a change in accounting policy has on comparability, the financial statements (including the corresponding amounts) should be prepared on the basis that the new policy had always been in place (retrospective application). Thus the assets (retail outlets) should include the previously expensed finance costs and income statements will no longer show a finance cost (in relation to these assets whilst under construction). Any finance costs relating to periods prior to the policy change (i.e. for two or more years ago) should be adjusted for by increasing retained earnings brought forward in the statement of changes in equity.
(b)(iii)

This item involves the characteristic of relevance. This situation questions whether historical cost accounting is more relevant to users than current value information. Porto’s current method of reporting these events using purely historical cost based information (i.e. showing an operating loss, but not reporting the increases in property values) is perfectly acceptable. However, the company could choose to revalue its hotel properties (which would subject it to other requirements). This option would still report an operating loss (probably an even larger loss than under historical cost if there are increased depreciation charges on the hotels), but the increases in value would also be reported (in equity) arguably giving a more complete picture of performance.
Answer 3
Faithful representation

The Framework states that in order to be useful, information must be reliable and the two main components of reliability are freedom from material error and faithful representation. The Framework describes faithful representation as where the financial statements (or other information) have the characteristic that they faithfully represent the transactions and other events that have occurred. Thus a balance sheet should faithfully represent transactions that result in assets, liabilities and equity of an entity. Some would refer to this as showing a true and fair view. An essential element of faithful representation is the application of the concept of substance over form. There are many examples where recording the legal form of a transaction does not convey its real substance or commercial reality. For example an entity may sell some inventory to a finance house and later buy it back at a price based on the original selling price plus a finance cost. Such a transaction is really a secured loan attracting interest costs. To portray it as a sale and subsequent repurchase of inventory would not be a faithful representation of the transaction. The ‘sale’ would probably create a ‘profit’, there would be no finance cost in the income statement and the balance sheet would not show the asset of inventory or the liability to the finance house – all of which would not be representative of the economic reality. A further example is that an entity may issue loan notes that are (optionally) convertible to equity. In the past, sometimes management has argued that as they expect the loan note holders to take the equity option, the loan notes should be treated as equity (which of course would flatter the entity’s gearing). In some cases transactions similar to the above, particularly off balance sheet finance schemes, have been deliberately entered into to manipulate the balance sheet and income statement (so called creative accounting). Ratios such as return on capital employed (ROCE), asset turnover, interest cover and gearing are often used to assess the performance of an entity. If these ratios were calculated from financial statements that have been manipulated, they would be distorted (usually favourably) from the underlying substance. Clearly users cannot rely on such financial statements or any ratios calculated from them.
Answer 4
The Framework defines an asset as a resource controlled by an entity as a result of past transactions or events from which future economic benefits (normally net cash inflows) are expected to flow to the entity. However assets can only be recognized (on the balance sheet) when those expected benefits are probable and can be measured reliably. The Framework recognizes that there is a close relationship between incurring expenditure and generating assets, but they do not necessarily coincide. Development expenditure, perhaps more than any other form of expenditure, is a classic example of the relationship between expenditure and creating an asset. Clearly entities commit to expenditure on both research and development in the hope that it will lead to a profitable product, process or service, but at the time that the expenditure is being incurred, entities cannot be certain (or it may not even be probable) that the project will be successful. Relating this to accounting concepts would mean that if there is doubt that a project will be successful the application of prudence would dictate that the expenditure is charged (expensed) to the income statement. At the stage where management becomes confident that the project will be successful, it meets the definition of an asset and the accruals/matching concept would mean that it should be capitalized (treated as an asset) and amortised over the period of the expected benefits. Accounting Standards (IAS 38 Intangible Assets) interpret this as writing off all research expenditure and only capitalising development costs from the point in time where they meet strict conditions which effectively mean the expenditure meets the definition of an asset.
Answer 5
(a)

The accruals basis requires transactions (or events) to be recognised when they occur (rather than on a cash flow basis). Revenue is recognised when it is earned (rather than when it is received) and expenses are recognised when they are incurred (i.e. when the entity has received the benefit from them), rather than when they are paid.
Recording the substance of transactions (and other events) requires them to be treated in accordance with economic reality or their commercial intent rather than in accordance with the way they may be legally constructed. This is an important element of faithful representation.
Prudence is used where there are elements of uncertainty surrounding transactions or events. Prudence requires the exercise of a degree of caution when making judgements or estimates under conditions of uncertainty. Thus when estimating the expected life of a newly acquired asset, if we have past experience of the use of similar assets and they had had lives of (say) between five and eight years, it would be prudent to use an estimated life of five years for the new asset.
Comparability is fundamental to assessing the performance of an entity by using its financial statements. Assessing the performance of an entity over time (trend analysis) requires that the financial statements used have been prepared on a comparable (consistent) basis. Generally this can be interpreted as using consistent accounting policies (unless a change is required to show a fairer presentation). A similar principle is relevant to comparing one entity with another; however it is more difficult to achieve consistent accounting policies across entities.
Information is material if its omission or misstatement could influence (economic) decisions of users based on the reported financial statements. Clearly an important aspect of materiality is the (monetary) size of a transaction, but in addition the nature of the item can also determine that it is material. For example the monetary results of a new activity may be small, but reporting them could be material to any assessment of what it may achieve in the future. Materiality is considered to be a threshold quality, meaning that information should only be reported if it is considered material. Too much detailed (and implicitly immaterial) reporting of (small) items may confuse or distract users.
(b)
Accounting for inventory, by adjusting purchases for opening and closing inventories is a classic example of the application of the accruals principle whereby revenues earned are matched with costs incurred. Closing inventory is by definition an example of goods that have been purchased, but not yet consumed. In other words the entity has not yet had the ‘benefit’ (i.e. the sales revenue they will generate) from the closing inventory; therefore the cost of the closing inventory should not be charged to the current year’s income statement.
Consignment inventory is where goods are supplied (usually by a manufacturer) to a retailer under terms which mean the legal title to the goods remains with the supplier until a specified event (say payment in three months time). Once the goods have been transferred to the retailer, normally the risks and rewards relating to those goods then lie with the retailer. Where this is the case then (in substance) the consignment inventory meets the definition of an asset and the goods should appear as such (inventory) on the retailer’s balance sheet (along with the associated liability to pay for them) rather than on the balance sheet of the manufacturer.
At the year end, the value of an entity’s closing inventory is, by its nature, uncertain. In the next accounting period it may be sold at a profit or a loss. Accounting standards require inventory to be valued at the lower of cost and net realisable value. This is the application of prudence. If the inventory is expected to sell at a profit, the profit is deferred (by valuing inventory at cost) until it is actually sold. However, if the goods are expected to sell for a (net) loss, then that loss must be recognized immediately by valuing the inventory at its net realisable value.
There are many acceptable ways of valuing inventory (e.g. average cost or FIFO). In order to meet the requirement of comparability, an entity should decide on the most appropriate valuation method for its inventory and then be consistent in the use of that method. Any change in the method of valuing (or accounting for) inventory would break the principle of comparability.
For most businesses inventories are a material item. An error (omission or misstatement) in the value or treatment of inventory has the potential to affect decisions users may make in relation to financial statements. Therefore (correctly) accounting for inventory is a material event. Conversely there are occasions where on the grounds of immateriality certain ‘inventories’ are not (strictly) accounted for correctly. For example, at the year end a company may have an unused supply of stationery. Technically this is inventory, but in most cases companies would charge this ‘inventory’ of stationery to the income statement of the year in which it was purchased rather than show it as an asset.
(Note: other suitable examples would be acceptable.)

Answer 6
There are four elements to the assistant’s definition of a non-current asset and he is incorrect in respect of all of them.
The term non-current assets will normally include intangible assets and certain investments; the use of the term ‘physical asset’ would be specific to tangible assets only.
Whilst it is usually the case that non-current assets are of relatively high value this is not a defining aspect. A waste paper bin may exhibit the characteristics of a non-current asset, but on the grounds of materiality it is unlikely to be treated as such. Furthermore the past cost of an asset may be irrelevant; no matter how much an asset has cost, it is the expectation of future economic benefits flowing from a resource (normally in the form of future cash inflows) that defines an asset according to the HKICPA’s Framework for the preparation and presentation of financial statements.
The concept of ownership is no longer a critical aspect of the definition of an asset. It is probably the case that most noncurrent assets in an entity’s statement of financial position are owned by the entity; however, it is the ability to ‘control’ assets (including preventing others from having access to them) that is now a defining feature. For example: this is an important characteristic in treating a finance lease as an asset of the lessee rather than the lessor.
It is also true that most non-current assets will be used by an entity for more than one year and a part of the definition of property, plant and equipment in HKAS 16 Property, plant and equipment refers to an expectation of use in more than one period, but this is not necessarily always the case. It may be that a non-current asset is acquired which proves unsuitable for the entity’s intended use or is damaged in an accident. In these circumstances assets may not have been used for longer than a year, but nevertheless they were reported as non-currents during the time they were in use. A non-current asset may be within a year of the end of its useful life but (unless a sale agreement has been reached under HKFRS 5 Non-current assets held for sale and discontinued operations) would still be reported as a non-current asset if it was still giving economic benefits. Another defining aspect of non-current assets is their intended use i.e. held for continuing use in the production, supply of goods or services, for rental to others or for administrative purposes.
Answer 7
(a)

The going concern assumption is that an entity will continue in operational existence for the foreseeable future. This means that the financial statements of an entity are prepared on the assumption that the entity will continue trading. If this were not the case, various adjustments would have to be made to the accounts: provisions for losses; revaluation of assets to their possible market value; all non-current assets and liabilities would be reclassified as current; and so forth.
Unless it can be assumed that the business is a going concern, other accounting assumptions cannot apply.
For example, it is meaningless to speak of consistency from one accounting period to the next when this is the final accounting period.
The accruals basis of accounting states that items are recognised as assets, liabilities, equity, income and expenses when they satisfy the definitions and recognition criteria in the Framework. The effect of this is that revenue and expenses which are related to each other are matched, so as to be dealt with in the same accounting period, without regard to when the cash is actually paid or received. This is particularly relevant to the purchase of non-current assets. The cost of a noncurrent asset is spread over the accounting periods expected to benefit from it, thus matching costs and revenues. In the absence of the going concern convention, this cannot happen, as an example will illustrate.
Suppose a company has a machine which cost $10,000 two years ago and now has a net book value of $6,000. The machine can be used for another three years, but as it is highly specialised, there is no possibility of selling it, and so it has no market value.
If the going concern assumption applies, the machine will be shown at cost less depreciation in the accounts (ie $6,000), as it still has a part to play in the continued life of the entity. However, if the assumption cannot be applied, the machine will be given a nil value and other assets and liabilities will be similarly revalued on the basis of winding down the company's operations.
(b)

One of the ideas behind the Framework is to avoid the fire-fighting approach, which has characterised the development of accounting standards in the past, and instead develop an underlying philosophy as a basis for consistent accounting principles so that each standard fits into the whole framework. Research began from an analysis of the fundamental objectives of accounting and their relationship to the information needs of accounts users. The Framework has gone behind the requirements of existing accounting standards, which define accounting treatments for particular assets, liabilities, income and expenditure, to define the nature of assets, liabilities, income and expenditure.
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